JII'G 12 T113CO

napu
Jui Ne Mpexmet/nucuuniina Bukiaagau
- — 1 ®I3UYHE BUXOBAHHS OCUIIEHKO B.I'
Ipeamer/nucuumniina Bukiaamau =
= g 2 IHOOPMATUKA IUIALLEHKO O.M
» 1 ?, = BOTAHIKA JI KOPKYJIEHKO A.M
g 2 JIEHJIPOJIOT'LS IIP MAPYEHKO O.B 5 3 T'EOJIE3L [P EBCTA®»EB B.O
= 1 IHOOPMATUKA IUIALLEHKO O.M
= 3 JIEHJIPOJIOL'LS JI KOPKVYJIEHKO A.M >
: :
= 4 TEOJIE3LS J1 BEPHALIBKA JIL.A E 3 BOTAHIKA IIP MAPYEHKO O.B
T E 4 TEOJIE3LS JI BEPHAIIBKA JLA
% 2 JIIC.EHTOMOJIOT'IS1 JI KAPIIOBUY M.C >
5 3 JIIC.EHTOMOJIOTI'I4 T1P KAPIIOBUY M.C 1
a 4 JIIC.OITOMATOJIOT IS JI JIEBYEHKO B.b 2 IHOOPMATHKA IVIAITEHKO O.M
= 5 JIIC.®ITOIHATOJIOILS JI JIEBUEHKO B.B < 3 BOTAHIKA TIP MAPYEHKO O.B
=
[~
1 AEH/IPOJIOT'TA ITP MAPYEHKO O.B 3 4 ®I3UUHE BUXOBAHHS OCHUIIEHKO B.I
<
% 2 BOTAHIKA IIP MAPYEHKO O.B 3
3] 3 BOTAHIKA JI KOPKVJIEHKO A.M 1
4 TEOJIE3LS [P BEPHALIbKA JL.A o 2 IH®OPMATHUKA TUIAIIEHKO O.M
1 TEOJIE3LS 1P BEPHALIbKA JL.A 2
a. 2 E 3 ®I3MYHE BUXOBAHHS OCUIIEHKO B.I'
E 3 JIIC.®ITOITATOJIOI' LS TP KAPIIOBHUY M.C 4 I'EOJESIA JI bEPHAILIbKA JL.A
= 5
a4 4 JIIC.EHTOMOJIOT'I TP KAPIIOBUY M.C 1 BOTAHIKA ITP MAPYEHKO O.B
=x
=
= 1 BOTAHIKA JI KOPKVJIEHKO A.M § 2 TEOESLA ITP E€BCTAD»EB B.O
= 2 JEHJTPOJIOI'LA IIP KOPKYJIEHKO A.M ; I'EOJE3L JI BEPHALIBKA JLA
E = 3 BOTAHIKA JI KOPKVJIEHKO A.M
e
= 3 :
=
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JIT'6-21 MC

napu
Ipeamer/nucuumniina Buxiagau
1
= 2 OCH.BYJLJIIC.JIOPIT JI JIAXHO C.B
-
S 3 JIIC.®ITOITATOJIOI'TA JI JIEBUEHKO B.b
M
E 4 JIIC.EHTOMOJIOI'TA JI KAPIIOBUY M.C
5 JIIC.EHTOMOJIOI'LA ITP KAPIIOBUY M.C
1
g( OCH.PAI[IOEKOJ'IOFII KPACHOB B.I1
E HEJIEPEBHI PECYPCH IIP BYJIHIK L.IT
=
Q
4 JIIC.®ITOITATOJIOI'LA 1P KAPIIOBUY M.C
5
1
a 2 HEOEOEBHI PECYPCU N1 BYAHIK I.N
=]
[~
= 3 OCH.BYJLJIIC.JIOPIT JI JIAXHO C.B
=p
4
JIICOBI KYJIbTYPU JI OYYUIIO A.]1
§ JIICOBA CEJIEKIIA JI OYUNIIO A. [
= 2 JIICOBI KVJIBTYPU IIP TF'AHXXAJIIOK T.C
E OCH.PAIIIOEKOHOFIT MAPYEHKO O.B
é 3 JIICOBA CEJIEKLIIA ITP KAPIIOBHUY M.C
4
1 JIICIBHUIITBO JI KIIMMYVYK O.0.
<« JIICIBHUIITBO ITP KIIMMYVK 0O.0.
S 2 JIICIBHUIITBO JI KIIMMYVK 0O.0.
N 3 JIICIBHUILITBO JI KJIMMUYK O.0.
Q

RS JIT$-22 M3CO
Mpexmet/nucuuniina Bukiaagau
o 1 MEXAHI3AIIIA JIT POBIT JI ITACTYX A.b
g MEXAHI3AIIIA JIT POBIT T1P TTACTYX A.b
E = 2 JIIC.®ITOITATOJIOT A JI JIEBYEHKO B.b
=
a 3
1
2 JICTPYHTO3HABCTBO IIP BYJIHIK L.IT
=
= 3
S 4 JAEHAPOJIOT'TA ITP KOBAJIBYYK JI.O
5 JIIC.®ITOITATOJIOI'TA TP KAPIIOBHY M.C
1 AEHAPOJIOTTA JI KOPKVYJIEHKO A.M
E 2
= 3
? 4 OIBMYHE BUXOBAHHA OCHIIEHKO B.T
5 JIIC.EHTOMOJIOI'TA JI KAPIIOBHUY M.C
= 1
g 2 JIICOBI KVJIBTYPU JI OYUUIIO A1
E JIICOBI KVJIBTYPU ITP TAHXAJIIOK T.C
E 3 JIC.TPYHTO3HABCTBO JI OYUNIIO .14
= 4 JIIC.EHTOMOJIOI'TA ITP KAPIIOBHY M.C
1 BIOJIOTI'TA JIIC.3BIPIB JI KPATIOK
2 BIOJIOT'TA JIIC.3BIPIB ITP KPATIOK
;t 3 MUCIIMBCTBO3HABCTBO JI KPATIOK
8 MUCJIMBCTBO3HABCTBO KPATIOK
% ITP
4 MUCINBCTBO3HABCTBO JI KPATIOK
5 JIICIBHUIITBO JI KIIMMYVYK 0.0




JIT'0-31 MC

I1P

napu
Ipeamer/nucuumniina Bukiagau
a 1 OPT"AHI3AILIA JIT" B-BA JI JIOUKO C.B
o -
E % 2 OPI"AHI3ALIIA JIT" B-BA TIP JIOUKO C.B
=
M 3 BYX.OBJIIK V JIT" J1 JIOMKO C.B
1 OCH.MAJIOI'O BIBHECY JI JIOMKO C.B
<«
= 2 OPT'AHI3ALLLS JII' B-BA IIP JIOVIKO C.B
&
=
O 3
4
1 EKOHOMIYHA TEOPIS JI BEPBUIIBKA T.€
E 2 EKOHOMIYHA TEOPIA ITP BEPBUIIBKA T.€
x 3 BYX.OBJIIK B JIT" 1P JIOMKO C.B
=n
4
1 OCHOBHU MAJIOI'O BIBHECY JIOVKO C.B
R I1P
=
i 2
g 3 JIICOBITOPAJIKYBAHHA T1P ITJTAIIIEHKO O.B
=
4
1 JIICOBA TAKCAIIISA JI CIPYK
JIICOBA TAKCAIIIA TP CIPYK
2 JIICOBITOPSIJIKYBAHHS JI CIPYK
ﬁ TIC JI CIPYK
g 3 T'IC I1P CIPYK
O 4 OCH.HICOEKCHHYATAL{IT JI 3AXAPYVYK B.A
5 OCH.HICOEKCHHVATALHT 3AXAPYUVK B.A




